University College of the Cayman Islands

FIN301 Financial Management
Tutorial #3 – Financial Statement Analysis – Chapter 3

SOLUTION

1. Analysts would want to calculate financial ratios as they give insight into different aspects of a firm’s financial health.

2. The ratios that would most interest a banker who is considering an application for a short-term loan are the current ratio and the quick ratio. These ratios measure a firm’s ability to meet its short-term obligations. Generally, the higher these ratios, the more able a firm can cover its short-term obligations. (Note - the operating cash flow to current liabilities ratio is also of interest) 

3. Potential long-term bond investors would be most interested in debt ratios. When a firm’s debt ratios increase significantly, bondholders' and lenders' risk increase, because more creditors compete for that firm’s resources if the business runs into financial trouble.

4. Current Ratio
=
CA
=
$3,500,000
=
1.75x




CL

$2,000,000


Debt Ratio
=
TD
=
$4,000,000
=
50%





TA

$8,000,000


Times Interest
=
EBIT
=
$1,700,000
=
4.63x

      Earned

  I

  $367,000


Total Assets
=
Sales
=
$8,000,000
=
1x

   Turnover

 TA


$8,000,000


Operating
=

EBIT
=
$1,700,000
=
21.25%

Profit Margin

Sales
$8,000,000

ROA
=
 PAT 
=    
  $800,000   
=
10%

   TA



$8,000,000


ACP

=
$2,000,000 X 360
=
90 days




$8,000,000




Inventory
=
COGS
=
$3,300,000
=
3.3x

Turnover

 Inv.
$1,000,000


Fixed Assets
=
Sales
=
$8,000,000
=
1.78x

   Turnover

  FA


$4,500,000


Gross Profit
=
  GP  
=
$4,700,000
= 58.75%

    Margin

Sales

$8,000,000


Net Profit
=
  PAT  
=
  $800,000  
=
10% 


  Margin


Sales

$8,000,000


ROE

=
PAT

=
  $800,000 
=
20%




 CE


$4,000,000

5.   $2.5m = 2.5
(
$2.5m=2.5CL
($2.5m = CL  =$1.0m



  CL






  2.5

    ($2.5m  +  x
=    2


$1.0m  +  x


$2.5m  +  x
=
2($1.0m  +  x)


$2.5m  +  x
=
$2.0m  +  2x


$2.5m - $2.0m
=
2x  -  x


$0.5m

=
x

· Additional borrowing is $500,000 to achieve a target current ratio of 2:1.

6a.
ROA
=
NI

&
Net Profit Margin
=  NI  . 



TA






Sales

Net Profit Margin  =  NI
=  5%
(  $NI =10m x5% =  $0.5m






$10m


ROA
=
$0.5m/$5.0m
=
10%
6b.
ROA
=   NI 
=  12%(
NI   =   $5.0m  x  12%   =   $0.6m




  $5.0m


Net Profit Margin  =$0.6m   = 5% ( Sales  = $0.6/5% = $12m





 
Sales


Growth Rate
=
$12m  -  $10m

=
20%




       $10m

6c.
Common equity
=
$5m  x  70%
=
$3.5m

ROEa

=
$0.5m/$3.5m
=
14.29%

ROEb

=
$0.6m/$3.5m
=
17.14%
7a.
Credit Sales
=
$9,000,000  x  75%   =   $6,750,000


ACP
=
      $562,500      




$6,750,000 / 360
 



=    $562,500 / $18,750.00





=
30 days




7b.
  A/C Rec.   
=
20





$18,750.00








A/C Receivable
=  $18,750.00  x  20






=  $375,000




7c.
Inventory
=
COGS







Turnover

 Inv.




  




=
$9.0m  x  70%
 =   9








  Inv.







(  Inventory
=
$6.3m / 9  =  $0.7m

8.
3-7


Present current ratio = 
[image: image1.wmf]$525,000

$1,312,500

 = 2.5.

Minimum current ratio = 
[image: image2.wmf]NP

 

+

 

$525,000

NP

 

+

 

$1,312,500

D

D

 = 2.0.

$1,312,500 + (NP = $1,050,000 + 2(NP

             (NP = $262,500.

Short-term debt can increase by a maximum of $262,500 without violating a 2 to 1 current ratio, assuming that the entire increase in notes payable is used to increase current assets.  Since we assumed that the additional funds would be used to increase inventory, the inventory account will increase to $637,500 and current assets will total $1,575,000.

9.   ROE
=

NI

    

  CE


Net Profit Margin  = NI   =  10%
( NI=$5,000 x10% =  $500




          $5,000


CE
=
TA  -  TL
=
$10,000  -  $6,000   =   $4,000


ROE
=
$500 / $4,000
=   12.5%

10. Current Ratio
=CA
=    $5,000 / $2,000
=
2.5x 





 CL


Where Current Liabs. = Total Liabs. - Long-term Liabs.






=   $20,000  -  $18,000  =  $2,000

11. ROA
=
NI

and

Net Profit Margin
=
  NI  .




TA







Sales


Total Assets Turnover
   = 
Sales





 


TA


Total Assets Turnover =
ROA / Net Profit Margin

  =
NI   x   Sales
=
Sales






TA
   
NI

  TA








=
0.12  x  1/0.04
=
3x
12. 3-8

TIE = EBIT/INT, so find EBIT and INT.

Interest = $500,000 ( 0.1 = $50,000.

Net income = $2,000,000 ( 0.05 = $100,000.

Pre-tax income (EBT) = $100,000/(1 - T) = $100,000/0.7 = $142,857.

EBIT = EBT + Interest = $142,857 + $50,000 = $192,857.

TIE = $192,857/$50,000 = 3.86(.

13. a.
EPS
= NI/# of shares outstanding = $2.25M/1.75M shares    











=  $1.29
b. P/E Ratio  = MPS / EPS
=      $40 / $1.29    = 31
c. BPS = Common Equity/# of shares outstanding

  =  $15M  /  1.75M shares   =   $8.57
d.
Market to Book Ratio = MPS/BPS = $40/$8.57 = 4.67x
14. 3-21
1.
Debt = (0.50)(Total assets) = (0.50)($300,000) = $150,000.

2.
Accounts payable = Debt – Long-term debt = $150,000 - $60,000

                 = $90,000.

3.
Common stock = 
[image: image3.wmf]equity

 

and

s

liabilitie

 

Total

 - Debt - Retained earnings

             = $300,000 - $150,000 - $97,500 = $52,500.

4.
Sales = (1.5)(Total assets) = (1.5)($300,000) = $450,000.

5.
Inventory = Sales/5 = $450,000/5 = $90,000.

6.
Accounts receivable = (Sales/360)(DSO) = ($450,000/360)(36) 

                    = $45,000.

7.
Cash + Accounts receivable = (0.80)(Accounts payable)

            Cash + $45,000 = (0.80)($90,000)

                      Cash = $72,000 - $45,000 = $27,000.

8.
Fixed assets = Total assets - (Cash + Accts rec. + Inventories)

             = $300,000 - ($27,000 + $45,000 + $90,000) = $138,000.

9.
Cost of goods sold = (Sales)(1 - 0.25) = ($450,000)(0.75) = $337,500.

15. Total Assets Turnover
=
$100,000 / TA
  =   1.6    (


Total Assets   =   $100,000 / 1.6   =  $62,500
Fixed Assets Turnover
=
$100,000 / FA   =   2.9    (

Fixed Assets   =   $100,000 / 2.9   =   $34,483

Current Assets
   =
Total Assets -  Fixed Assets   =   $62,500 -  $34,483  =  $28,017

Average Collection Period = A/C Receivable x 365/$100,000 

 =   55 days  


A/C Receivable   =   ($100,000 x 55)  /  365  =  $15,068

Inventory Turnover   =    $100,000 / Inventory  =  15 

    
(
Inventory       =    $100,000 /  15    =    $6,667

Prepaid Expenses =Current Assets-Cash-Receivable-Inventory





=$28,017 -$6,000-$15,068-$6,667 

= $282

Debt Ratio = Total Debt/Total Assets 

 = Total Debt / $62,500  =  40%    (

Total Debt   =    $62,500  x  40%   =    $25,000
Total Equity  =  Total Assets  -  Total Debt
     

    =    $$62,500  -  $25,000   =   $37,500
Retained Earnings  = Total Equity  - Common Stock   

=   $37,500  -  $16,000  =  $21,500     


Current Ratio  =   $28,017 / CL  = 3
   

(    Current Liabilities  =   $28,017 / 3  =  $9,339  
Bonds Payable   =   Total Debt  -  Current Liabilities    

 = 
$25,000  -  $9,339  =   $15,661
Notes Payable = Current Liabilities - A/C Payable  -                

 Accrued Expenses







=  $9,339- $6,000 - $600   =    $2,739
16. a.





         
  Industry

Actual
Actual





          Averages

  1999

  2000    . 

Current ratio



1.80x

  1.84x

  0.90x

Acid test ratio



0.70x

  0.78x

  0.24x

Average collection period

37 days

  36 days
  36 days

Inventory turnover


2.50x

  2.59x

  2.11x

Debt to total assets


58%

  50%

  61.3%


Long-term debt to total capitalization
33%

  33.8%

  28.3%

Times interest earned


3.8x

  4.0x

  2.79x

Gross profit margin


38%

  40.0%

  40.0%

Operating profit margin


10%

  9.6%

  10.6%

Net profit margin


3.5%

  3.6%

  3.4%

Total asset turnover


1.14x

  1.11x

  1.07x

Fixed asset turnover


1.40x

  2.02x

  1.82x

Return on assets



4.0%

  4.0%

  3.6%

Return on common equity

9.5%

  8.0%

  9.4%

b.
It appears that G & S is in a very weak position to request an additional loan. An examination of the ratios computed in part (a) shows that the liquidity of G & S has decreased considerably during the past year to a point well below the industry average. In addition, its debt ratio has risen to a point above the industry average, although the difference is not particularly large. However, an additional loan would increase this difference. The times interest earned ratio has decreased significantly over the preceding year to a point well below the industry norm of 3.8 times. The return on the owners’ investment is good, but the firm’s low liquidity and extensive use of debt do not warrant approval of the loan.






8
9

_963226603

_1029669527

_963226583

